T=BR% == KR1EHSE HERZIR

()]
o

0 21 39

1 14 23 29 35 7§) 46 52 @

1@ s B 15 B 23 P 29 E§1%DH 38 @0 IK] 45 B 53 66
1 E)'@ 10 42 [ 17 F)*® 25 @8 Kl 33 EE%D 41 @3 [ 49%H 56 59
O 50 13O 21 D 31 P 41 M 50 A

2 4 10 [ 20 P2 31 (¥ 41 I 51 B

1 112123104151

1 112123104105 A

A 11 [ 21 A 31 A 41 51 B

A 11 [ 21 P2 31 (A 41 M 51 (7

A 11 [ 21 PA 31 £ 42 [ 52

B 12 [ 22 P 32 K 42 5 52 [

B 12 [5 19 22 I 29 32 k) 39 42 [ 49 52 ) 59

B 9 12 [ 19 22 PI 29 32 Kl 39 42 [T 49 52 [ 59

B o 12 [ 19 22 Pf 29 32 k] 39 42 [T 49 52 [ 59

B 9 12 [ 19 22 PI 29 32 Kl 39 42 [T 49 52 [ 59

B 12 6 21 B 32 k) 42 I 52 [59

10| 15 22 27 34] 39 46 51 59

13 19 28 34 [43| 48 58

—h

—h

NINININ
WIN]=|O
N B~ OO DN DN DNMDDDN

N
1

Y EEG RSN RN ¢
N P ITWIN|-
—h

RZIROR 7 125l 3% s - B - ElENGE

) s 25I= AIRGEPE  OF=10GERTEELET (OFIELSHRNTY)
el JOOF:::ocE SE=EEHBEOLBEAS LAOERIC I TS RER%
. ey awl LT
00 EEh=IT

EHERLRE 00 &

FEERRIIFEREARZZE LS
U< HERETBR S BRISIENEHINDIBEICEIBRET I EABNET



